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Pl 6&x)= 4‘PC><§5'):U,2’73‘I

P( x<3)x~ 0,2969
P(7 <X) = 4-P(x<6)= 0,7371

P(x<6)= P(X€s)= 0,721¢

PC4 éX)t 4 - P(Xé3):0£-’;€03f
P(x<9)= PLXE8)~ 09,9345
P(22x)= 4 -P(X<£2)z ¢ 9752

P(14x)= P(2<X)=4-P(X<1)=0,964%
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P(2£X<26) = P(X<6)-PlXx<q)~ 0,057

PU3EX<?)=P(x<y) - P(x<z2)= 0,131%
PCh<X<10)= PCssx<t)) = Plxetg)-Plxe $)20,5827.
PChEXLB)=P(X28)- P(X<£3)= 02504
P(F<X<A2)= P(E<XEM) = P(X£H)-P(X<7)= 06167
PLELXLAS)= P(X£1S)-P(Xx€H#)= 0,8625

PU5€X<10)= P(5£X<9)= P(x<£9)-Plx<4)= 04060

h) P(8<X<45)-pP(9<xzys) = Fx215)-P(X< 8)~ 07424
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